
MA 11100 Exam 3 Answers, Fall 2009 

 

Problem Form A     

 

1.  D I and III only    

 

2.  B ax +2      

 

3.  E 124 2
++ xx     

 

4.  B )23)(23(3 2
−+ xxx    

 

5.  C 22 2510 hghg +−    

 

6.  D One solution is zero, the other is negative. (-2) 

 

7.  C 042192
=+− xx    

 

8.  A 
x
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+

+
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x
  

   

10.  A 2)2)(2( −+ nnn    

 

11.  C The solution is at least 4− , but less than 0.  ( )4−=x  

 

12.  C 6 hours  

            

13.  B 
1

5

1

3

+

=

− xx
    

 

14.  D 
3

16
=y     

 

15.  B 7.00049.0 =    


